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Instructions —

All question are compulsory.

Please the instructions carefully before writing the answer.

Q. No. 1 to 5 are objective type which contain fill up tHanR, True/False, match the
column, one sentence answer and choose the correct answerguEsiibn is allotted 5
marks.1x1 = 5x5 =25 Marks.

Internal options are given in Q. No. 6 to 24.

Q. No. 6 to 10 carry 2 marks each and answer should be givabout 30 words.

Q. No. 11 to 17 carry 4 marks each and answer should be igiedout 75 words.

Q. No. 18 to 22 carry 5 marks each and answer should be igiedout 120 words.

Q. No. 23 and 24 carry 6 marks each and answer shoulddreigiabout 150 words.



R 1.

b8 faweu gaa fakay —

@)

@

()

&)

ANTCHS RS HT TR M & —

(i) THfte arefemes (i) =rfte arefemen

(i) SuRTeT g (iv) 379 & ®1E T8
WRA § LT R BT ITUET BT BRI BIF Hal & —

() o e wfAfay (i) Tt =reet fdeer

(iil) D= Ak FreT (iv) fac =TT
gfcieet A Her 8 —

(i) amard &H (i) Frata aifdre

(iil) &0 I e Yt (v) e emura & At
WRT # 9ol U9 fHar iar § —

(i) ST B FHE (i) YT & HHe

(i) ST I B AT (iv) < 7 fedt & wmer T8
AT & 9 T AR © —

() w9 A Swfar frae (i) Safa w9

(i) Sy &< fam (iv) 9fct @1 fras

Choose the correct answer in the following.

(@

(b)

(©

(d)

What also known as Aggregative Economics -

(i) Macro Economics (i) Micro Economic

(iii) Both of the above (iv) None of the above.

Which body calculates the National Income in India

(i) National Income Committee (i) Directorate of NaabSample
(iii) Central Statistical Organisation (iv) Finance Mtny.

Adverse Balance payment is -

(i) Less Imports (ii) More Exports

(iii) Less Imports More Exports (iv) More Impartd Less Export.
A Budget is presented in India by -

(i) Lok Sabha (ii) Rajya Sabha



U= 2.

URE 3.

(iii) Both the above (iv) None of the above.

(e) The Basis of Law of Demand is :-
(i) Law of Supply (i) Law of Diminishing Utitly
(iii) Law of Equi Marginal Utility  (iv) Law of Dminishing Returns

Rt v &Y qfef HRTY |

() PR AT UL o Eis

(i) o1 9oTC FEE H......oo.... D G UG BAT T B |

(i) wrATaYEl HAT 9T TR AR BT TR o 2|

(v) Fei g8 wTEqEl ART A AR & WR Pl 2l

(v)  erfSrpan aFfTe o & Rigid &7 IRuET T foam |
Fill in the blanks.

(0] Car and Patrol are................. commodities.

(ii) Rail Budget is presented by ................. thie Parliament

(i) The level of Employmentis ............ at increaseftective demand.
(iv)  Increasing Effective Demand .............. the éledf Employment.

v) The theory of maximum social advantage propounded.hy...

W A B ol WM T | FIAR |l NSt asu—

s 3 - s ¥
@) - 91935
@ Rod ¥ eie dfear - wiw qeR
(¥) WHR ERT BF Tl 9 FI—H e BT AIIS
@ 1T e — R BHedror BT RIFeR
®) g&1 &1 wafie ert - o



Make the correct pair for column 'A' choosing from coluBin *

A - B
(a) Gold - Year 1935
(b) Reserve Bank of India - International Market
(c) Government's Income & Expenditure- Measure of Value
(d) National Income - Barometer of Economic Welfare
(e) Primary function of money - Public Finance
I/ 3T 9aTsd —

() ol wRETIT v @EEiRe w2

(i)  erefered # wfdd &1 wM 9 A RIS BEdm & |

(i) wET faTre ve omeet 9 dwife WY T |

(v) fden® e fRw yeR &1 wra g

(v) <9 T T YR BT 8 9§ T A BT B

Write True or False.

(i) Imperfect competition is practical state of market.

(i) In Economics of a person doesnt get a job it is knowdresnployment
(iiiy  The standard deviation in an ideal and scientific measure.

(iv)  Index Number is special type of mean.

) When marginal revenue is zero then total revenue is maximum

TFh e § Iar AR

1. YR T T IS BT 87

2. IO T BT ARG TR T H T AT PEART &7
3. R # a1 i &1 ifeR few d@ a1 8?7

4. IETE BT I B §I2

5. goic BT Ay fba af @1 e 87
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R 7.

URE 8.

Write the Answer of the following questions in a sentence.

1. Whatis purpose of trade?

What is the sale of goods from one county to anotherd®alle
Which Bank has power of issuing money in India?

When Nabard was established?

Write the duration of the Budget.

a > 0N

HART BT YATAT B dTel QT dcdl BT gl By |
Discuss any two elements that affect Demand.

3T
Or

9ii & Al & $1E <1 Svarel BT | qu B |

Give any two exceptions to the Law of Supply.

T FEfed @ el 7 3 BT A guie BT |
Discuss any two organs of National Wealth.

31T
Or

g5 faRer B ®Ed 87 Wfera goie FHIfTe |

What is known as Closed Economy? Give a Brief Description

IRBH RISFRY BT 3ef wee HIRTT |

Discuss the meaning of Involuntary Unemployment.

3rdr
Or

MDA T BT AT TR Y9G Iq18Y |

Give the effect of Excess Demand on Prices.



T 9. RSICARE ARG AC N Y
What is known as Symbolic Currency

3rdr
Or

RN Rord §F 31 WU 9 g8 U4 9P W Sl el W
Rer 87

When was the Reserve Bank of India established and wheres &teadquarters
situated?

ueg 10. A fgem & <1 it @ e |
Describe two features of Mean Deviation.
3T
Or
g |8 TR e dEd 2?7 SereRu AR |

What is known as Positive Co-relation? Give Examples.

ue 1. afte iR wHfe i § 38 IR iR ke |
Write four differences between micro and macro economics.

3rdr
Or

wEfte srefare @) AR faRvany fafay |

Write four characteristics of macro economic.

TS 12, &F B MR R IR & YHRI &I AR BT |
Classify and explain the market on the basis of area.

3rdr
Or

oof gfERt arorR @ TR faRm e |

Write four characteristics of perfect competition market.



U= 13.

U= 14,

U= 15.

U= 16.

Red 9% & s dfbT daef ert oy |
Elaborate center banking functions of the Reserve Bank.
3T
Or
MYfre sreferawen # R S B Ao THE |

Explain importance of commercial banks in modern economy.

AT Fgerd R AR Ggem # iR fafag |
Give differences between balance of payment and balance ef trad
AT
Or
I e & URigad & IR HRYT frfag |

Write four reasons for the adverse balance of payment.

U 30T BR YTl &1 aR faivany ey |

Write four characteristics of a good tax.

AT
Or

ARA R JoTTell & IR <Y forRkag |

Write about four demerits of Indian tax system.

ey B URTET Tl 39S TR forfad |
Mention the definition and types of correlation.
3T
Or
PIet FoRIAT 1 wEwdy oTd a1 87 sHa A=A fafed |

What is Kare Pearsons co-efficient of correlation? Writassuimption.



e 17. = 73t @1 AW wd fawaR T[onies smd SIfoTg —
aE 1 2 3 4 5 6 7 8 9 10 11 12
3T 139 145 151 159 162 165 168 170 171 172 174 175

Find out the range and co-efficient of range of the folhmndata -
Month 1 2 3 4 5 67 8 9 10 11 12
Income 139 145 151 159 162 165 168 170 172 174 175

3rerar
Or
fodetis B T BRI THT DIA—DIA AT @R = ARy |

Which precautions should be taken while constructing Imdlexbers.

U 18, 9% B GRT BT GG R ATl BT i dedl Bl auie I |
Describe any five factors affecting the supply of commodity.
3T
Or
ST BT 3 9T gY NI dsh U MR BT i 8l | Aeeigd |

What is meant by cost? Why the cost curves are U shaped.

U 19. U 3R ST & HEed BT faaa=T BIRTY |
Describe the Importance of National Income Accounting.
3T
Or
T G B TR A R AR

Describe the components of National Capital.

e 20. SUNT B & BIg Ui eaRe d fRkag |

Explain any five factors which determine consumption famcti



U= 21.

U= 22.

U= 23.

TR 24.

arerar
or
AT T B b B B Ui Sug oA |

Give the five measures to correct deficiency demand.

WRBN g5t B gia fagrdrg Ry |
Write five characteristics of a Government Budget.
AT
Or
Iole 999 & WE U g%y forRay |

Write five main objectives of Budget.

Frdens 59 Fea 87 Fowie & woRi &1 | @ S |
What is Index Number? Explain types of Index Number.

3T

Or
JUFHROT BT a1ef T SUfHROT AT HR Y < At F7 9o B |

What is dispersion? Explain any two methods of the meadwlispersion.

AR BT ARG HT §T AT B e B afE arer S |

Give the definition of demand and explain the law of deanaith the help of a

diagram.
3T
Or
IFeuBTel H NI fIgeryor BT g |

Explain cost analysis in short period.

frfaRad st & fheR &1 angel fAdene g Bi—

TN v 1990 v 2000

1 AT 1 AT




At 2 20 5 15
g 4 4 8 5
il 1 10 2 12
IR 5 5 10 6

Find out Index Number using fisher's ideal index nunfitzen the following data-

Commodity Year 1990 Year 200

Price Qty. Price Qty.
Rice 2 20 5 15
Wheat 4 4 8 5
Gram 1 10 2 12
Jwar 5 5 10 6

3rdr
Or

T arfel & g fRged g SIfe —
3D 0—10 10—20 20—30 30—40 40—50
B W=l 12 21 23 34 10
Calculate standard deviation from the following data -
Marks 0—10 10—20 20—30 30—40 40—50
No. of Student 12 21 23 34 10

10



KICHISION
v — asrfvre (Ecpnomic)

el — REAl
TS uH & SR —
IR 1. G fawen gax fafey —
@) wmfe srefeme

SIAA

X 3.

@ D= AiRad! Hred
@) efde st w9 atd
(@ SwF A $ wAe
®) Synfiar s fH
TAF FE IR o W 1 3iF FA 5 3F W 2|

Ra o &7 9fif HRTg —
0 w=

(i) o1 #A

(i) wgar

(iv) 9om

() srees

1T FE IR o W 1 3iF FA 5 3F W 2|

& Sifear —
s I - s q
(@) - TS 9eIR

@ Rod I offt sfear & o — 9 1935
(@) WRGR RT &M a1 3T & —  <Jord

11



SN 4.

SISAEA

X 6.

@) < ar - fE FRTT HT R
©) Ha1 &1 mafie erf - I FT AUF
TP HEl SN foE WR 1 3 B 5 3H W BN |

T / A sy —
0 =
i) o™
(i) @
iv) <=
|

1T FE IR o W 1 3T FA 5 3F W 2|

@ mwéﬁmﬁwéﬂﬁmaﬁw@a/ﬁé@ﬁw
HEATT B |
() g1 frf @ afteR Red d@ offw 3o @@= §@) 31 21

(@)  arS B RO | 1982 W S |
(5) e & 3rafdy T aF P BNl 2|
TP HEl SN foE WR 1 3 B 5 3H W BN |

HAT PI TR F aTel &1 O = § —
1. O B B |
2. A9 vd Seary |

2 3i®
Suad quie R WM W 2 3fF ura S

12



&N 7.

SIAE:2

rerar
ot & forem & <1 smare e @ —
1. 9ISy ¥ Hwa aRads @ FHraT |
2. BfY awgell W AR T T

2 3
Swfad vl 5 WM W 2 & w8
I wAfd $ Q& A R -
1. UTBfIS AT |
2. o ofad |

2 3
Swfaa vl 5 WM W 2 sie ura B

arerar

9T 3ff AR 98 o AR § @ B I BT I AN < A
PIg 3P ey AL BT § 1 Wi fef @awen B Avg B =y e
RS A PIS ey TSI Bl ©| g9 Ifef @yaRen @1 e g
9y fagg # g9 arel aRad=T & yIfad v B

2 3@
Swfad vl 5 WM W 2 sie ura B

Mfed R a8 Rafy & R @rtt &1 Iov R & g #
RISAR &7 ISdT B | 96 AT A9Igy] &1 e &R W M G &
o R B 2| Wfe S oM R faar ar i Refa @
IMfEed RIS w81 o 2|

2 3P
ST ol R WM W 2 3F T g

13



X 9.

X 10.

e
AMS AT PT BT W Y9G < H 9K TG qanedi & qeai 7
gfg & Rl Ak sreferaven 59 Raf # 2 % awgell vd Haret @
Ie R At TE 9”1 S WHAT © Al SN Y9G I§ BN b
<o # gegell v Al @ FH B SRl iR 39a Jou 9ga i
qg SR |

2 3i®
Sugad quie R WM W 2 ofF ura S

Hibfid T I B FEES AT Bl 2| $AB 3 [od 3AD
IRARAF oI A IfF B B | Fofoe gET § awgell v Hawi &
qeg FeiRa 781 81 21 g% 9a71 u: =fean ud geal few @1 o1
¥ Fffa 2 2

2 3P
Sugad qui R WM W 2 8fF ura S

3rerar
AR Rod §& & o 99 1935 § gE | BT G AT

g H 2|
Sugad quie R WM W 2 sfF ura S

2 3@

RS & T —

1. ArRAfIEE BT AHST T SO TOMT HRAT AR A B 2

2. ey famer 9ot & Wl Heal W amenRa 8T ® | swafery o &
AT & IR H o SIHeRY uTe gl 2 |

2 3%
Swfad vl R WM W 2 s g B

14



N 11,

AT

gD A8 ARE— Ife 1 @Rt ¥ uRddd @ T ve B sW

gD 8 A HEd § |

SETERT — A e & - o+ giy g

2 3P

ST oI fhd WM W 2 3F T g

fte vd Afe refeme # 4 3R
fte arefemey

%, AR Bl

1. favg wmef @fic sefere #

Jafae afie

SHISAT BT AT

forar <rar €

afic srefemre #

HE FfeaTa BH SERT
RS $H1g A ol
g A B fader @

g
%

ST R

fic srefemes & e
AT fawersor anfy
TR 3menRa st
q5 AT 2

e srefeme

Fafte srefere § o]
Srf@Re BT g fhar
Sisi

wHfe sefore # |qot
Sreferaer ¥ e wEY
qerr anfefe ol @

TRRT fhar ST B |

wHfte el &1 &9
(T 377, Yof AR
Td IR ofe ot ofef
TRl | Haf
el @ fageryor
BT B |

fte arfes PHa JHfe e & &g

15



N 12,

fagewor | e AT BT fATerToT HRAT B |
G ®
(RS E IR W 1 3D FA 4 3 )

e
T srefomes @ AR faRvan fEfeied 2
(1) T gfeeapTor
(2) wrffes fodl wx wet
(3) TR fAed=aT
(4) Iy 9 ISR Rigia
(1) e e — wAfe sefure @ uvom Rvga 2 TEd
BIE-BIC 3HRAT BT Wed A8l f3aT Sa1 9fed 9@ FETadm A
I UG AR FRansit &l g1 fasTen S 2
(2) oMRR® fRal W ga1 — wHfie sries @ ve "ol faLwar 2
wifes fodl w® waite 9 o, I' @fedra 2ol @ gaem A
afed fRdl W) e < g |
(3) R forivar — wAfe srefemes § AHg @ eI fhar S €,
ST T e ZHEAT BN B O WRER ST BT B, U QIR I
& Bl € UB SP1s H IRETT SR WR A AARI & Agad W
A +f gRads & ofar 2
(@) s 7 IaR Rrgia — e s # TSy e e |d
ISR &7 T BRI I Y&l &, g9forl 39 34 T ISR &1
frgia ff @ea €

(@@ fag ford oM W 1 3iF F[A 4 30F)

&F B IR R FoIR IR YHR &I &l & —
16



(1) =g 9oR — 5 avg & a1 Ud fmar s = @ Sfa
M IF B 2 A S99 WM IR $Ed 2| 341 @ forg o T
B arell XY SIR-gY, Weofl, Thod, WOl SAG | AT U axg SN
Tou oY e A BN ¥ SN, fed, e enfy|
(2) IRRIP IR — W9 5 a%g & BA-AbaT TF I &5 AU Ui
H el B 8 AT 9 9 BT GNIR UIRRI% qTR B[ § | Sii— o
@) AT oA H |
(8) TST IR — 59 R G B Dar-fAbdr R < F bt & o
I8 TG IR BEerdl & | SN—hUel, T8, IHex M |
(4) SiRISHT IR — o9 el awg @ A R fave # B & a1 a8
RS AR FHEAT & oA — AT, =0T |

GRS € IOR B THR s W 1 375, FA 4 30D)

e
ot gREfiaT 9oiR @1 R feyary frefaRed € —
(1) wa-far A e e — gof U § da—famar A G
fSrep Bl & ST I ITOIR BT JIfaa T Y e |
(2) TFRY TRY -— S W AT s BU AT AHH AR S9d © Sl
T, AMHR, UHT efy & FAE Bl B
() wAl &1 wdd W fREEE — ool gfefar § oAt @ uaer 9
T R B 9 TE BN 9 o9 AR ST W qER AT S &
ST At B
(4) 9NIR BT QU S — Da-fABdT BT IR B YA AFBR BT
aRY | Fer fhd g R G B 8 B
(5) Wt @ REerar — Swfcd & AR il 897 =Ry | o
et arftre wRsfies fier a8t & o wa |

17



N 13,

(6) AT AN 9 BT -— Jg 7 foram oirm @ o |eft par—fasar
UH R & 9HIY ¥ SHfery Iarna orTd T8 2|
(RF a8 R R 1 3% FA 4 3iF)

Rod ¥ k19 I & T 1t T wRaT 8| W@ B g
(1) 9 fafe — RO §% @1 e e &1 teier o 2| 98
o 2 YT F 1000 T qH B Al AT HR Fad & s fog
AT BT TFT P SR AT & | KRG § & U BF A HH 200
RIS T HT e BFT AfRY, R & 115 HRIS $UY &I W@oi wd
9 <l fagel uferifoRlt & 2wt 21

(@) @ frama — w8 FEa () 99 =R (i) Gl aoiR &1 fHard i)
qHE PN B AT H URGIT  (iv) T B B ST H I (v)
o IR Ao (vi) 9gFE @ X emfe & ArEmW W far on
|HAT B

(3) WHRY dox, gAY 7d FoEeR — R9d 96 Rl & F9
T AU U ST PRAT ©, AAT BT YA Bl 8 G R B

AR FRAT B| TGN Aol & S Bgell W WER B
SEIEEEGIR

(@) et e R @1 fgw — swe oy Rod o *w &1 9
R P IR @ BT B B 2| e # R el garart &
o fafaw @ araven @war 2

(5) Yot &1 5 Rod & o +ff 7€ §& @ @ wEv I 4=
PR B AT a1 B i & AT B g 21 o @1 FRerr
PRAT B, JAALIDAT TS R I 0T <1 & |

18



@) @ B — g9, Dol O, SR, AR, ge,
FRMEE, TEfkeen Mt & FARNE & @ gawen Rod §o w@d
PRAT & T ST BT FARAT ARAT e I Pl & |

(R w8 fag I 1 3@ [ 4 3)

aperar
INfD 3t awn ¥ RS Jof o1 wEa —
S Sreferawen ¥ dol BT WEw@yUl RH €| S d6 WA P
Aol enfdie wIfy @ Rl smRRen 2| R @ weal # do
MY FaT R FT gad AN s fovg 21"
(1) STt &1 SR HAT F W — 6 < B B vd 9L qedt
@ HuRd B ¥ g R AUR @it wd e @) e
IR BT T I ¢ |
(2) 9aT AT YON P FTWINRY — §F P AERAT F RSP T Yoil
P FAAYEd e TG U & AT Td WM I G W B
FRIART PR Fhd © |
(3) &1 el § W — 9% qEwEAgAR gaT B g # A ar
ghg RS W BT RfERT # AF IAA PRI § 9AT A B AlfaD
T&E BT AR T E |
(4) SgaeT awgel B PRET — Joi ¥ AfRRed oH WA WA, Th
WM A TN WE B 31 g &9 951 @ §& & dfex d g9
TIIY T W G GRIE I8 2
(5) ST amed B ST — B & TR T T B i A FUb
¢ ST B 3R I ST emed I B O 2| wE-uA @
AR S B ST 2

19



SRS

(6) T ¥ GRET — IF & BRT T IS R PIAE BT G WG
B FHA T VS gRT I o GRem a0 & 2| e st #
<& 8|

(% wE g W 1 3@ 7 4 309)

AT e T AR Ao # iR
YR AT I el

1 AR Aged # o fafd qraE dged § g¥9 A48 B
BT S dTell 329 AT BT E AR I7G¥T Hal BT A

el fasar e 2 wfiet faar ST 2
2 AR A, A A A Ageld bl RO Afdd
BT TF 9T 2 | AP BN 2 |

3 5 < @1 AR Wgew A YA Ade ufiad ©
g # T B B 1w a1 g8 o @1 faw 2
e &1 fawg = 7|
4 YR A gl ol A Gold FaT & Agferad
Ufret 81 Wb § | & B
R G fag W 1 3w F[A 4 i)

e
YA Gger ¥ URiaerdl & e RO 9 YBR © —
(1) dpiferm warlt & emaa ¥ gfg — o S W e UgifeRm
yerelt & Jou ufday derd W ¥ 91 & W <o # ugiforsw uemelft
@ Gud A 9 B, e AR A= # g9 Sna Ay R

20



SR 15.

@ wfFi & smm ¥ gy — e fEmm & @R ¥ #
ferfiexe 9 B e o TR N7 g8 2 s srRo w=i= &
AT AT H ST FRAT IT 2 |
(3) amen & srgww Rl ¥ gfE T ST — WA H g |dged @
Uil B BT UH RO AT BT MR 7 987 2 |
() siRisfia #or v - Ra ¥ e et @ forg & AmEm
# ol forg § e & 9 gorm a3 for o faceh fafmm
I HIAT TSAT 8, 3 W YT e ufdee 81 T 7 |

(TRF TR g W 1 37, B 4 37P)

Td ST B YTl 3 IR faervarg fyferfad & —

(1) s — SR UUTeN & gfEr Yr §eEn o o mata

AT BT | MYAS AT B SMIRIGAT T IGR B ATAR BRI

BT gRafld wRAT F9a BT ARy |

(2) g — TP oS X wuell wgfer € @Ry | W et

WA BT AT aifs gt A H S T & 6 |

(3) WXeT™@T — U 3Pl B} YOSl H Aol B 2| SIawd

Sifeeranett o1 3rTa BT # |

() P faP™T — T el FR YoITEll ST Ud AUR TR RT YT

T8 Sl afew U B e e # Aot ¥ arell g ARy |
(R T fadvar foes W 1 30T [ 4 3F)

aferar
AR B YoTTell & R g e forRad 23—

21



3N 16.

(1) SfRea #R WM — IRAT R W dfed g 59 s faas
IO B O § B TR H BfeAE i ¥ 9 R AN & I
e 2
@) o N AT — IR R YU H 3Fd BN Y I @
PBROT T &1 BRETAT BT 3 B ARBINGT & IRT ST TSl 2 |
(3) T WUt BT TP B — IRAT TR BT fAH™T sragaRerd
¥ g © Y TN & A @i IR ge arel gl &1 98
UHR ¥ R T a1 S 2
(@) T @ Rigia &1 e — IRAY IR GaT # 99 & Rigia
BT 3G U7 ST 21 ST B A U 3 WR Py PR AS] Tl
ST STafds SET | U 3T W SHdl &R A HR N Il 2 |
(A% & AV o W 1 3F, FA 4 30F)

T8 [ B gRHTT —

o BT & vl H, <1 9He At 7 e Il & Wy B HRO
e & A5—waYy dean © |

YPR —

(1) TP SR FoTTR W Hew — IR Ud W A gig A1 B B
R g WA A g I B E T S R A e fwm A
IRadT B A FE-—HeY S el 2| 39 QW <9 @
UMD e 2 |

(@) g qur R WE—wEw— AR T W & HAew uRadai &
U FG FAM Bl T SHb WA W e BEANT 2 |
w9 Audd, aft 1 o & e gRaddH @ U geor B 1
N IS Fe RWR AT I VR HE—T BT 2|

22



() wea, i@ @ el We—wEy — @9d q W b W
AT DY VARV AT ARl (AT bael A8 Adel ) PEd 7 | T
e o7 o MR Aol ®Ed 8, & TR ed WA B 8 a9 g
#oft Ry v ot F8d 2 & o) o N g9 & w9 1 et |
TP A WAF TR eI BT GHAY IS Te—awy A fHar S 2
a9 I JARP W8 q=Y Ped © | g H I A1 RS TR g B
e FE—Y BT e fBar o 2

(aRHTST TR 1 3 T UBR W 3 3T Tl 4 3F)

rerar
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